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Magnitude of Vectors in <a,b> Component Form

Given v is has initial point ’(x1,1) and

terminal point Q(x2,12), then...

[v]) =4/ G2 = 22+ (2 = )2

Given v is has initial point ’(x1,1) and

terminal point Q(x2,12), then...

[v]) =4/ G2 = 22+ (2 = )2
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Given v is in standard position and expressed

in component form v = (4,b), then...
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v =(3,4)

Given v is in standard position and expressed

in component form v = (4,b), then...

|v | =4 a2+ b2
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Magnitude of Vectors in <a,b> Component Form
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Given v is in standard position and expressed

in component form v = (4,b), then...
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Given v is has initial point /’(x1,1) and

terminal point O(x2,12), then...

[v]| =4/ G2 = 202+ (2 — 112

Given v is in standard position and expressed

in component form v = (1,b), then...

[ =42+ 2
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